log AY/Y)

IECSRGBu7-Dreieckshelligkeit T*
YocmL*w - n=100

T*

T* IEcsroBuT=50 (Y/Y) 2 0(Y,=18, Y,/1002Y<=Y, )
T*n(8,6)=22,T*,(18)=50,T*\y(90)=112

log[T*/T*]=0, m,=0,50
bereich
1,518
D= 90

IECSRGBuU7

Normfarbwertdifferenz

Yoc=L* w nc=100,
T*iEcsraBur=50 (YY) Y20(Y,=18, Y, /100<Y<=Y,0)
log(dY) = (1/2,0) log[2,0¢,/50)] + [1-(1/2,0)] logY)

-

2
*y=50, dv,=4,00 dY,/Y,=0.2222 ,.#

.

Anwendungs-

bereich
Y,=18
1 Yy=90

IECSRGBu7
Normfarbwertemfindlichkeit

SOV Yoc=L*w - nc=100,
T*iEcsraBur=50 (YY) Y20(Y,=18, Y, /100<Y<=Y,0)
log(@Y/Y)= log[2,0(/,/50)] - (1/2,0) log¢/Y,)

= (1/2,0) log[2,0¢,/50)] - (1/2,0) logl)

Anwendungs-
- ~herelch

>~
*,=50, dYu 4,00 dY,/Y,=0,2222 1

log (Y/AY)

IECSRGBu7
Normfarbwertkontrast
Y=L w nc=100,
T*iEcsraBur=50 (YY) Y20(Y,=18, Y, /100<Y<=Y,0)
log(Y/dY)= ~ log[2,0/,,/50)] + (1/2,0) log{/Y,)

= - (1/2,0) log[2,0¢,,/50)] + (1/2,0) logy{)

C,=(Y/AY)

* =50, dY,=4,0Q Y, /dY,=4
log(Y/dY)=0,65 m,=0,5 1
1

e 1

1

1

1

Anwendungs-|
bereich

1
1v,=18

YN=3.6  Yy=90

Anwendungs-]

Iog(AY/AY )

THT*, IECSRGBU7 relative DreieckshelligkeitT*/T*,

THT* YocmL*w - nc=100,

T* EcsraBur=50 (YY) M20(Y,=18, Y, /100<Y<=Y,o)
T#N(3.6)=22,T* ,(18)=50,T*y(90)=112

log[T*/T* LI]:o m,=0,49

Yn=3.6  Yyw=90

IECSRGBU7 relative
Normfarbwertdifferenz

Yoe=L*w ~ ne=100,

T* EcsraBur=50 (YY) M20(Y,=18, Y, /100<Y<=Y, o)
log(dY/dY,) = [1-(1/2,0)] loglf/Y,)

AY/AY,

*,=50, dY,=4,00 dY,/Y,=0,2222 _ =
-
log[(dY)(dY),]=0, m=0,49 _ »
5
-

. 1 Anwendungs-

1 bereich

log [AYY) I (AYIY),]

1y,=18
Y=90

YN=3.6

IECSRGBU7 relative

Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.

T* EcsraBur=50 (YY) M20(Y,=18, Y, /100<Y<=Y,o)
log(dYM)AYM),] = - (1/2,0) logl/Y,)

Anwendungs-|
bereich

i
log[(dY/YY(dY/Y)]=0, m=-04y 1 "S.u
*,=50, dY,=4,00 dY,/Y,=0,2222 }
1y, =18

log [(Y/AY) I (YAY),]

Yn=3.,6 Yw=90
IECSRGBU7 relativer

Normfarbwertkontrast
CrlCru=(YIB(YIAY)y y =Ly, =100,

T* lEcsraBur=50 (YY) M20(Y,=18, Y, /100<Y<=Y,o)
logI(Y/dY)/(Y/dY),] = (1/2,0) loglY/Y,)




